
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 4, Members Subject to Bending and Extension problem 4.042, page 246 
 

Last update: 22-10-07 

Remarks: See §4.4, pages 168 till 170 
See §4.5, pages 171 till 184 

 
Answers: 
 
b. 0tσ =  and  280 N/mmbσ = −

c.  and  210 N/mmtσ = − 250 N/mmbσ = −

 
 
 
 
Explanation: 
 
b. Cross section B: 

  and60 kNmzM = − 240 kNN = −  
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c.  Cross-section halfway of AB: 

  en 30 kNmzM = − 240 kNN = −  

  ( ) 220 N/mmNσ = −

  ( ) 210 N/mmM
tσ = +

 2  ( ) 30 N/mmMσ = −b

 


